Assessment Grid:

Subject: History Year:

7

Topic/module: Should we raise £10m to stop Armada portrait of Elizabeth | leaving the UK?

KS4 target pathway (for example)

6

8

Exceptional progress

Some progress

Enrichment/extension — reaching, or part of,
next pathway >

1.

You begin to analyse long term
and short term impact.

You begin to explain why
different people would have a
different opinions about
Elizabeth.

Mostly secure - some gaps

You need to explain more than
one simple reason why Elizabeth
is significant.

You need to write in more detail
the impact of Elizabeth’s actions
by stating clearly the positive and
negative impacts it had on the
Tudor dynasty and the position
of England.

Enrichment/extension— reaching, or part of,
next pathway =

1.

Evaluate the views on significance
changes made by Elizabeth
through time by considering the
depth of the impact over a period
of time.

You begin to explain why some
people would see her as a
significant monarch.

Mostly secure — some gaps

You have analyse how Elizabeth’s
was significant by considering the
long and short term impact of her
reign.

You need to add more detail to
your explanation of why Elizabeth
took the actions she did and the
long and short term impact of her
actions.

Enrichment/extension

1.

| have evaluated and explained the significance of
Elizabeth by detailing the positive and negative impact
of the actions and used by own criteria to measure
how significant she was.

The arguments and conclusion are well substantiated

Mostly secure — some gaps

You need to have detailed evaluation of the historical
significance of Elizabeth by linking the problems during
her reign to the wider concerns of England the English
throne.

Your paragraphs linked together with appropriate
connectives.







